## JS≣

Johannesburg Stock Exchange

One Exchange Square, Gwen Lane, Sandown, South Africa Private Bag X991174 Sandton 2146

Tel: +27 11 520 7000 Fax: +27 11 520 8584

www.jse.co.za

Registration number: 2005/022939/06 VAT number: 4080119391

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
8:03:13	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	13.4193		(13,419,300.00) Client	Sell
8:03:13	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	13.4193		13,419,300.00 Membe	Buy
8:08:04	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	5,000	5,000,000	13.4575		(67,287,500.00) Membe	
8:08:04	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.4315		134,315.00 Membe	Buy
8:08:04	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	15	15,000	13.4525		(201,787.50) Membe	Sell
8:08:04	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	5,000	5,000,000	13.4575		67,287,500.00 Client	Buy
8:08:04	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	15	15,000	13.4525		201,787.50 Client	Buy
8:08:04	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.4315		(134,315.00) Client	Sell
8:37:02	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	35	35,000	13.4565		470,977.50 Client	Buy
8:37:02	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	35	35,000	13.4565		(470,977.50) Membe	Sell
9:00:50	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.4532		(1,345,320.00) Membe	Sell
9:00:50	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.4532		1,345,320.00 Client	Buy
9:04:30	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	39	39,000	13.4451		(524,358.90) Membe	Sell
9:07:21	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	200	200,000	13.4395		(2,687,900.00) Membe	Sell
9:07:21	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	200	200,000	13.4395		2,687,900.00 Client	Buy
9:08:38	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.4429		(268,858.00) Membe	Sell
9:10:01	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.4358		67,179.00 Membe	Buy
9:10:01	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.4358		(67,179.00) Client	Sell

## CURRENCY DERIVATIVES

## CURRENCY FUTURES AND OPTIONS MATCHED TRADES

REPORT FOR 09/10/2015

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
0.10.21	¢ / D 11/10/2015	Foreign Eveloping Future	0.00	1	1 000	10	12 000	12 4259		174 665 40 Momber	Dung
9:10:21	\$ / R 11/12/2015	Foreign Exchange Future	0.00	•	1,000	13	13,000	13.4358		174,665.40 Member	Buy
9:10:21	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	13	13,000	13.4358		(174,665.40) Client	Sell
9:10:45	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.4443		(336,107.50) Member	Sell
9:10:45	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.4443		336,107.50 Client	Buy
9:15:18	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.4500		(201,750.00) Member	Sell
9:15:18	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	70	70,000	13.4279		939,953.00 Client	Buy
9:16:05	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.4464		(336,160.00) Member	Sell
9:16:05	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.4464		336,160.00 Client	Buy
9:18:57	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.4554		(1,345,540.00) Member	Sell
9:18:57	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	160	160,000	13.4535		2,152,560.00 Client	Buy
9:19:09	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	60	60,000	13.4504		(807,024.00) Client	Sell
9:19:56	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4514		26,902.80 Member	Buy
9:19:56	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4514		(26,902.80) Client	Sell
9:20:25	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.4579		(1,345,790.00) Member	Sell
9:20:40	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.4554		(1,345,540.00) Member	Sell
9:20:54	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	60	60,000	13.4529		(807,174.00) Member	Sell
9:20:54	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	260	260,000	13.4558		3,498,508.00 Client	Buy
:22:01	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.4529		(1,345,290.00) Member	Sell
9:22:01	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	160	160,000	13.4540		2,152,640.00 Client	Buy
9:22:07	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	7	7,000	13.4581		(94,206.70) Member	Sell
):22:07	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	7	7,000	13.4581		94,206.70 Client	Buy
9:22:09	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	60	60,000	13.4557		(807,342.00) Member	Sell
9:22:20	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	60	60,000	13.4549		(807,294.00) Member	Sell
9:22:20	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	160	160,000	13.4570		2,153,120.00 Client	Buy
):22:28	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.4582		(1,345,820.00) Member	Sell
):22:56	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	60	60,000	13.4537		(807,222.00) Member	Sell
9:22:56	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	160	160,000	13.4537		2,152,592.00 Client	Buy
9:23:13	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.4537		(1,345,370.00) Member	Sell
9:23:34	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	60	60,000	13.4524		(1,610,611,610) Member	Sell
9:23:34	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	60	60,000	13.4524		807,144.00 Client	Buy
):23:41	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.4500		(672,500.00) Client	Sell
9:23:41	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.4500		672,500.00 Client	Buy
):23:53	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.4450		(2,016,750.00) Member	Sell
):23:53	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.4450		2,016,750.00 Client	Buy
		<b>o o</b>		1							
):25:28	\$ / R 11/12/2015 \$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.4502		269,004.00 Member	Buy
9:25:28	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.4502		(269,004.00) Member	Sell
):26:00	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	30	30,000	13.4504		(403,512.00) Member	Sell
9:26:00	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	30	30,000	13.4504		403,512.00 Client	Buy
9:26:56	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	850	850,000	13.4481		(11,430,885.00) Member	Sell
9:26:56	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	850	850,000	13.4481		11,430,885.00 Client	Buy
9:27:19	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.4479		(2,017,185.00) Member	Sell
9:27:19	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.4479		2,017,185.00 Client	Buy
9:27:28	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4493		(134,493.00) Member	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
9:27:28	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4493		134,493.00 Client	Buy
9:27:33	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	850	850,000	13.4490		(11,431,650.00) Member	Sell
9:27:33	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.4492		(1,344,920.00) Client	Sell
9:27:33	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.4500		(672,500.00) Member	Sell
9:27:33	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	13.4491		13,449,100.00 Client	Buy
9:29:20	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	673	673,000	13.4502		(9,051,984.60) Member	Sell
9:30:20	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	673	673,000	13.4602		(9,058,714.60) Member	Sell
9:35:37	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.4749		(67,374.50) Member	Sell
9:35:37	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.4749		67,374.50 Client	Buy
9:35:59	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4764		(134,764.00) Member	Sell
9:35:59	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4764		134,764.00 Client	Buy
9:36:13	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.5080		675,400.00 Client	Buy
9:36:13	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.5080		(675,400.00) Member	Sell
9:39:36	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4753		(134,753.00) Client	Sell
9:39:36	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	90	90,000	13.4789		(1,213,101.00) Member	Sell
9:40:44	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	6	6,000	13.4759		(80,855.40) Member	Sell
9:40:44	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	6	6,000	13.4759		80,855.40 Client	Buy
):42:24	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.4759		(13,475.90) Member	Sell
):42:24	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.4759		13,475.90 Client	Buy
):43:19	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	24	24,000	13.4764		(323,433.60) Member	Sell
:43:19	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	24	24,000	13.4764		323,433.60 Client	Buy
):43:27	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.4765		(4,042,950.00) Member	Sell
:43:27	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.4765		4,042,950.00 Member	Buy
):44:09	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.4753		(2,021,295.00) Member	Sell
):48:05	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.4847		(2,696,940.00) Member	Sell
:48:05	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.4847		2,696,940.00 Client	Buy
):48:39	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4847		134,847.00 Client	Buy
):48:39	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4847		(134,847.00) Member	Sell
):53:58	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.4814		(6,740,700.00) Member	Sell
9:53:58	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.4814		6,740,700.00 Member	Buy
:58:57	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4871		26,974.20 Member	Buy
:58:57	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4871		(26,974.20) Client	Sell
D:06:58	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	14.1987		354,967.50 Client	Buy
0:06:58	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	14.1987		(354,967.50) Member	Sell
	· · - · · · · · · · · · · · · · · · · ·	<b>v v</b>		1							_
):11:23	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.4753		2,021,295.00 Client	Buy
):15:34	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	4	4,000	13.5064		(54,025.60) Member	Sell
0:15:34	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	4	4,000	13.5064		54,025.60 Client	Buy
0:17:41	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	3	3,000	13.5126		40,537.80 Client	Buy
0:17:41	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	3	3,000	13.5126		(40,537.80) Member	Sell
0:19:34	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.5025		(270,050.00) Member	Sell
0:19:34	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.5025		270,050.00 Client	Buy
0:21:10	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.5054		(270,108.00) Member	Sell
10:21:10	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.5054		270,108.00 Client	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
			i ut	Induco	Value		Nominal	11100	Nuto	iype	
10:29:45	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.5016		67,508.00 Member	Buy
10:36:06	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.4964		(67,482.00) Member	Sell
10:36:06	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.4964		67,482.00 Client	Buy
0:38:05	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	318	318,000	13.5030		4,293,954.00 Client	Buy
0:38:05	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	318	318,000	13.5030		(4,293,954.00) Member	Sell
0:39:22	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.4800		13,480.00 Client	Buy
0:39:22	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.4800		(13,480.00) Member	Sell
0:41:19	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	3	3,000	13.4917		40,475.10 Client	Buy
0:41:19	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	3	3,000	13.4917		(40,475.10) Member	Sell
0:44:09	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	494	494,000	13.4821		6,660,157.40 Member	Buy
0:44:09	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	494	494,000	13.4821		(6,660,157.40) Member	Sell
0:44:09	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.7036		6,851,800.00 Member	Buy
0:44:09	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.7036		(6,851,800.00) Member	Sell
0:44:41	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	84	84,000	13.7048		1,151,203.20 Client	Buy
0:44:41	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	84	84,000	13.7048		(1,151,203.20) Member	Sell
0:56:36	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	7	7,000	13.4708		(94,295.60) Member	Sell
0:56:36	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	7	7,000	13.4708		94,295.60 Client	Buy
):58:49	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.6900		(136,900.00) Member	Sell
):58:49	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.6900		136,900.00 Client	Buy
0:59:13	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.4600		(67,300.00) Member	Sell
0:59:13	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.4600		67,300.00 Client	Buy
1:05:15	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.4525		672,625.00 Client	Buy
1:05:15	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.4525		(672,625.00) Member	Sell
1:06:18	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	54	54,000	13.4550		(726,570.00) Client	Sell
1:06:25	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.4580		(13,458.00) Member	Sell
1:09:13	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.4580		13,458.00 Client	Buy
1:09:24	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	8	8,000	13.4505		107,604.00 Client	Buy
1:09:24	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	8	8,000	13.4505		(107,604.00) Member	Sell
1:11:58	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.4400		(201,600.00) Member	Sell
1:11:58	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.4400		(201,600.00) Member	Sell
1:11:58	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.4400		201,600.00 Client	Buy
1:12:01	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	13.4640		26,928,000.00 Member	Buy
1:12:01	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	13.4895		(26,979,000.00) Member	Sell
1:12:01	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	13.4640		26,928,000.00 Member	Buy
1:12:01	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	13.4895		(26,979,000.00) Member	Sell
:12:01	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	13.4895		26,979,000.00 Client	Buy
:12:01	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	13.4640		(26,928,000.00) Client	Sell
:12:53	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4394		(26,878.80) Member	Sell
1:12:53	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4394		26,878.80 Client	Buy
1:13:20	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	_ 150	150,000	13.4350		(2,015,250.00) Member	Sell
1:13:20	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.4350		2,015,250.00 Client	Buy
1:14:08	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.4300		671,500.00 Client	Buy
1:14:09	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.4300		(671,500.00) Member	Sell

11:14:09 11:16:58 11:16:58	\$ / R 11/12/2015		Put	Trades	Value		Nominal	Price	Rate	Туре	Sell
11:16:58	φ/R II/IZ/ZUID	Foreign Exchange Euture	0.00	1	1,000	10	10,000	13.4300		(124 200 00) Mombor	Sell
	¢ / D 11/12/2015	Foreign Exchange Future		1						(134,300.00) Member	
11.10.56	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	121	121,000	13.4602		1,628,684.20 Client	Buy
44.47.00	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	552	552,000	13.4602		7,430,030.40 Client	Buy
11:17:36	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4149		134,149.00 Client	Buy
11:17:36	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.4205		(67,102.50) Member	Sell
11:17:36	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4200		(134,200.00) Member	Sell
11:17:49	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	333	333,000	13.4111		(4,465,896.30) Member	Sell
11:18:00	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4100		(134,100.00) Client	Sell
11:18:18	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.4050		(2,010,750.00) Member	Sell
11:18:18	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.4050		2,010,750.00 Client	Buy
11:19:04	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.4310		335,775.00 Client	Buy
11:19:04	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.4310		(335,775.00) Member	Sell
11:20:12	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4000		26,800.00 Client	Buy
11:20:12	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4000		(26,800.00) Member	Sell
11:20:12	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	4	4,000	13.4000		(53,600.00) Member	Sell
11:20:12	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	4	4,000	13.4000		53,600.00 Client	Buy
11:20:12	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4000		(134,000.00) Member	Sell
11:21:25	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	18	18,000	13.4451		242,011.80 Client	Buy
11:21:25	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	21	21,000	13.4451		282,347.10 Client	Buy
11:24:59	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	40	40,000	13.4189		(536,756.00) Member	Sell
11:26:01	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.4194		(1,341,940.00) Member	Sell
11:26:01	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.4194		1,341,940.00 Client	Buy
11:27:25	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	40	40,000	13.4189		536,756.00 Client	Buy
11:27:55	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	102	102,000	13.4130		1,368,126.00 Member	Buy
11:27:55	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	102	102,000	13.4130		(1,368,126.00) Client	Sell
11:29:15	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	13.4640		(26,928,000.00) Client	Sell
11:29:26	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	13.4895		26,979,000.00 Client	Buy
11:30:19	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.4000		67,000.00 Client	Buy
11:30:19	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.4000		(67,000.00) Client	Sell
11:35:10	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.4030		670,150.00 Client	Buy
11:35:10	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.4030		(670,150.00) Member	Sell
11:36:08	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4036		(134,036.00) Member	Sell
11:36:08	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4036		134,036.00 Client	Buy
11:37:15	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	45	45,000	13.4000		603,000.00 Client	Buy
11:37:15	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	45	45,000	13.4000		(603,000.00) Member	Sell
11:37:15	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4000		134,000.00 Client	Buy
11:37:15	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4000		(134,000.00) Member	Sell
11:37:38	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3960		66,980.00 Client	Buy
11:37:38	\$ / R 11/12/2015 \$ / R 11/12/2015	<b>v v</b>	0.00	1		5	5,000	13.3960			Sell
		Foreign Exchange Future			1,000					(66,980.00) Member	
11:39:17	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.3979		(2,679,580.00) Member	Sell
11:39:17	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.3979		2,679,580.00 Client	Buy
11:43:43 11:43:48	\$ / R 14/03/2016 \$ / R 11/12/2015	Foreign Exchange Future Foreign Exchange Future	0.00 0.00	1 1	1,000 1,000	300 2	300,000 2,000	13.6256 13.4049		(4,087,680.00) Member (26,809.80) Member	Sell Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
-										<b>7</b> 1**	
11:44:09	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	8	8,000	13.4047		(107,237.60) Member	Sell
11:44:09	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	8	8,000	13.4047		107,237.60 Client	Buy
11:44:52	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.6356		(4,090,680.00) Member	Sell
11:44:52	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.6356		4,090,680.00 Client	Buy
11:47:36	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.6301		(204,451.50) Client	Sell
11:47:36	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.6301		204,451.50 Client	Buy
11:53:50	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.4200		(201,300.00) Client	Sell
11:53:50	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.4200		201,300.00 Member	Buy
11:57:00	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4250		134,250.00 Client	Buy
1:57:00	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	44	44,000	13.4230		590,612.00 Member	Buy
1:57:00	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	54	54,000	13.4233		(724,858.20) Client	Sell
1:58:56	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.4200		268,400.00 Client	Buy
1:58:56	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.4200		(268,400.00) Member	Sell
2:10:45	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4288		(134,288.00) Member	Sell
2:19:48	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.4272		1,342,720.00 Member	Buy
2:19:48	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.4272		(1,342,720.00) Member	Sell
2:31:15	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.4165		(2,012,475.00) Member	Sell
2:31:15	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.4165		2,012,475.00 Client	Buy
2:32:36	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.6301		(68,150.50) Member	Sell
2:32:36	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.6301		68,150.50 Client	Buy
2:44:28	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4160		(134,160.00) Client	Sell
2:44:28	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4160		134,160.00 Member	Buy
2:53:57	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	345	345,000	13.4452		(4,638,594.00) Member	Sell
2:53:57	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	345	345,000	13.4452		4,638,594.00 Client	Buy
3:08:36	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.4082		335,205.00 Client	Buy
3:08:36	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.4082		(335,205.00) Member	Sell
3:09:02	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	13.6300		(54,520.00) Member	Sell
3:09:02	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	13.6300		54,520.00 Client	Buy
3:12:35	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4000		26,800.00 Client	Buy
3:12:35	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4000		(26,800.00) Member	Sell
3:22:03	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3931		66,965.50 Member	Buy
3:24:46	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	80	80,000	13.3960		(1,071,680.00) Member	Sell
3:24:46	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	80	80,000	13.3960		1,071,680.00 Client	Buy
3:29:59	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.4092		(67,046.00) Member	Sell
3:30:11	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	30	30,000	13.4050		(402,150.00) Member	Sell
3:31:26	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.4127		(335,317.50) Member	Sell
3:31:26	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.4127		335,317.50 Client	Buy
3:31:42	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	30	30,000	13.4050		402,150.00 Client	Buy
3:39:35	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4050		(134,154.00) Member	Sell
3:39:41	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	51	51,000	13.6320		695,232.00 Client	Buy
		<b>v v</b>		1		51		13.6320			
3:39:41	\$ / R 14/03/2016 \$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000		51,000			(695,232.00) Member	Sell
3:47:30	\$ / R 11/12/2015	Foreign Exchange Future	0.00 0.00	1	1,000 1,000	10 10	10,000 10,000	13.4244 13.4244		(134,244.00) Member	Sell Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
-											
13:48:53	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.4235		6,711,750.00 Member	Buy
13:48:53	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.4235		(6,711,750.00) Member	Sell
14:01:25	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.4104		(6,705,200.00) Member	Sell
14:01:34	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.4108		(6,705,400.00) Member	Sell
14:08:00	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	14.0975		(352,437.50) Member	Sell
14:08:00	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	14.0975		352,437.50 Member	Buy
14:08:09	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	14.0983		(352,457.50) Member	Sell
14:08:09	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	14.0983		352,457.50 Member	Buy
14:10:46	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.3900		(2,008,500.00) Member	Sell
14:10:46	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.3900		2,008,500.00 Client	Buy
14:10:48	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.3855		6,692,750.00 Member	Buy
14:10:48	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.3855		(6,692,750.00) Member	Sell
14:11:52	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	37	37,000	13.3998		495,792.60 Client	Buy
14:11:52	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	37	37,000	13.3998		(495,792.60) Member	Sell
14:13:31	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	40	40,000	13.4082		(536,328.00) Member	Sell
14:13:31	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	40	40,000	13.4082		536,328.00 Client	Buy
14:15:11	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	13.4156		13,415,600.00 Client	Buy
4:15:11	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	13.4156		(13,415,600.00) Member	Sell
4:34:37	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4074		134,074.00 Client	Buy
4:34:37	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4074		(134,074.00) Member	Sell
14:40:11	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	4	4,000	13.4038		(53,615.20) Member	Sell
14:40:11	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	4	4,000	13.4038		53,615.20 Client	Buy
14:49:29	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	3	3,000	13.4362		40,308.60 Client	Buy
4:49:29	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	3	3,000	13.4362		(40,308.60) Member	Sell
14:54:12	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5,000	5,000,000	13.4465		(67,232,500.00) Member	Sell
14:59:43	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	158	158,000	13.4160		(2,119,728.00) Member	Sell
15:02:15	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	250	250,000	13.4180		3,354,500.00 Client	Buy
15:02:15	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	92	92,000	13.4214		(1,234,768.80) Member	Sell
15:11:29	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	50	50,000	13.4363		671,815.00 Member	Buy
15:11:29	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	50	50,000	13.4363		(671,815.00) Member	Sell
15:13:56	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	10	10,000	13.4753		134,753.00 Client	Buy
5:14:06	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	90	90,000	13.4789		1,213,101.00 Client	Buy
15:14:56	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	74	74,000	13.4320		993,968.00 Client	Buy
15:14:56	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	74	74,000	13.4320		(993,968.00) Member	Sell
5:17:35	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.4498		(67,249.00) Member	Sell
5:20:49	\$ / R 28/10/2015	Any day expiry	0.00		1,000	4	4,000	13.3065		53,226.00 Member	Buy
5:20:49	\$ / R 28/10/2015	Any day expiry	0.00		1,000	4	4,000	13.3065		(53,226.00) Client	Sell
5:24:18	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	40	40,000	13.4641		538,564.00 Member	Buy
15:28:45	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.4506		(67,253.00) Member	Sell
15:28:45	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.4506		67,253.00 Client	Buy
15:30:43	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	500	500,000	13.4451		6,722,550.00 Member	Buy
15:38:40	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.4498		67,249.00 Client	Buy
10.00.40	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	1,000	13.4498		13,444.10 Member	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
iiiie			Fut	Indues	Value		Nominal	FIICE	Nate	туре	Jeil
15:40:37	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.4441		(13,444.10) Client	Sell
15:41:12	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.6670		136,670.00 Member	Buy
15:41:12	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.6670		(136,670.00) Client	Sell
15:43:26	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	4,000	4,000,000	13.4485		(53,794,000.00) Member	Sell
15:43:26	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	4,000	4,000,000	13.4485		53,794,000.00 Client	Buy
5:45:54	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.3451		667,255.00 Member	Buy
5:45:54	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.4351		(6,717,550.00) Client	Sell
15:48:43	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.4515		4,035,450.00 Client	Buy
5:48:43	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	130	130,000	13.4515		1,748,695.00 Client	Buy
5:48:43	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.4515		(4,035,450.00) Member	Sell
5:48:43	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	670	670,000	13.4515		(9,012,505.00) Member	Sell
5:48:43	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	130	130,000	13.4515		(1,748,695.00) Member	Sell
5:48:43	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	670	670,000	13.4515		9,012,505.00 Client	Buy
5:50:37	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1,100	1,100,000	13.4515		(14,796,650.00) Member	Sell
5:50:37	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1,100	1,100,000	13.4515		14,796,650.00 Client	Buy
5:51:06	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	280	280,000	13.4965		(3,779,020.00) Member	Sell
5:51:06	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,800	2,800,000	13.4515		37,664,200.00 Client	Buy
5:53:06	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4049		26,809.80 Client	Buy
5:56:02	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4360		134,360.00 Member	Buy
5:56:02	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4360		(134,360.00) Client	Sell
6:28:49	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.4420		(1,344,200.00) Member	Sell
6:28:49	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.4420		1,344,200.00 Client	Buy
6:30:09	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	102	102,000	13.4130		(1,368,126.00) Client	Sell
6:30:09	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	102	102,000	13.4130		1,368,126.00 Client	Buy
6:30:09	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	102	102,000	13.4130		(1,368,126.00) Member	Sell
6:30:09	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	102	102,000	13.4130		1,368,126.00 Member	Buy
6:37:57	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.4336		(67,168.00) Member	Sell
6:37:57	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.4336		67,168.00 Client	Buy
6:41:14	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.4400		67,200.00 Client	Buy
6:41:14	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.4400		(67,200.00) Member	Sell
6:45:04	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	13	13,000	13.4438		(174,769.40) Member	Sell
6:45:04	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	13	13,000	13.4438		174,769.40 Client	Buy
6:45:28	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.4400		67,200.00 Client	Buy
6:45:28	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.4400		(67,200.00) Member	Sell
6:48:33	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	1	1,000	13.4376		(13,437.60) Member	Sell
6:48:33	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	1	1,000	13.4376		13,437.60 Client	Buy
6:52:52	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.4400		67,200.00 Client	Buy
6:52:52	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.4400		(67,200.00) Member	Sell
6:53:14	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	2	2,000	13.4360		26,872.00 Client	Buy
6:53:14	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	2	2,000	13.4360		(26,872.00) Member	Sell
6:57:15	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.4434		(67,217.00) Member	Sell
6:57:15	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.4434		67,217.00 Client	Buy
6:57:17	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.4400		67,200.00 Client	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:57:17	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.4400		(67,200.00) Member	Sell
16:59:07	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.4485		(67,242.50) Member	Sell
16:59:07	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.4485		67,242.50 Client	Buy
17:02:28	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	389	389,000	13.4173		5,219,329.70 Client	Buy
Total Futu	ires			162		38,824	38,823,500			522,566,553.70	
Total Opti	ons										
Total for \$	/ R Foreign Exchange	Future		162		38,824	38,823,500			522,566,553.70	
9:03:25	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.4366		(6,718,300.00) Member	Sell
9:03:25	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.4366		6,718,300.00 Member	Buy
9:24:16	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	4	400,000	13.4461		(5,378,440.00) Member	Sell
9:24:16	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	4	400,000	13.4461		5,378,440.00 Member	Buy
9:54:21	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.4770		(6,738,500.00) Member	Sell
9:54:21	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.4770		6,738,500.00 Member	Buy
10:02:28	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	3	300,000	13.4996		(4,049,880.00) Member	Sell
10:02:28	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	3	300,000	13.4996		4,049,880.00 Member	Buy
10:03:42	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.5001		(1,350,010.00) Member	Sell
10:03:42	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.5001		1,350,010.00 Member	Buy
10:36:06	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	6	600,000	13.4942		8,096,520.00 Member	Buy
10:36:06	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	6	600,000	13.4942		(8,096,520.00) Member	Sell
10:39:44	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	13.4788		12,130,920.00 Member	Buy
10:39:44	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	13.4788		(12,130,920.00) Member	Sell
10:39:53	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.4892		(1,348,920.00) Member	Sell
10:39:53	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.4892		1,348,920.00 Member	Buy
10:44:09	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00	1	100,000	7	700,000	13.7036		(9,592,520.00) Member	Sell
10:44:09	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00	1	100,000	7	700,000	13.7036		9,592,520.00 Member	Buy
11:09:38	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.4500		1,345,000.00 Client	Buy
11:09:38	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.4500		(1,345,000.00) Member	Sell
11:09:45	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00	1	100,000	3	300,000	13.6653		(4,099,590.00) Member	Sell
11:09:45	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00	1	100,000	3	300,000	13.6653		4,099,590.00 Member	Buy
14:02:52	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.4078		6,703,900.00 Member	Buy
14:02:52	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.4078		(6,703,900.00) Member	Sell
14:11:00	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.3850		(6,692,500.00) Member	Sell
14:11:00	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.3850		6,692,500.00 Member	Buy
15:11:22	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.4363		(1,343,630.00) Member	Sell
15:11:22	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.4363		1,343,630.00 Member	Buy
Total Futu	ires			14		56	5,600,000			75,588,630.00	
Total Opti	ons										
Total for \$	/ R MAXI Foreign Exc	hange Future		14		56	5,600,000			75,588,630.00	
9:20:14	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	20.6664		41,332.80 Member	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy Sell
9:20:14	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	20.6664		(41,332.80) Client	Sell
9:23:40	£ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	21.0000		(210,000.00) Member	Sell
9:23:40	£ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	21.0000		210,000.00 Client	Buy
0:44:02	£ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	18	18,000	21.0433		(378,779.40) Member	Sell
0:44:02	£ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	18	18,000	21.0433		378,779.40 Client	Buy
2:57:08	£ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	20.5714		41,142.80 Member	Buy
2:57:08	£ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	20.5714		(41,142.80) Client	Sell
4:03:59	£ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	20.5497		(20,549.70) Member	Sell
4:03:59	£ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	20.5497		20,549.70 Client	Buy
5:20:49	£ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	41	41,000	20.5660		843,206.00 Member	Buy
5:20:49	£ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	41	41,000	20.5660		(843,206.00) Client	Sell
6:28:26	£ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	20.5737		(20,573.70) Member	Sell
6:28:26	£ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	20.5737		20,573.70 Client	Buy
6:30:37	£ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	20.9124		(209,124.00) Member	Sell
6:30:37	£ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	20.9124		209,124.00 Client	Buy
otal Futi	ires			8		85	85,000			1,764,708.40	
otal Opt	ons										
otal for	Z / R Foreign Exchang	e Future		8		85	85,000			1,764,708.40	
8:39:41	¥ / R 14/03/2016	Foreign Exchange Future	0.00	1	100,000	37	3,700,000	0.1138		(420,875.00) Member	Sell
:39:41	¥ / R 14/03/2016	Foreign Exchange Future	0.00	1	100,000	37	3,700,000	0.1138		420,875.00 Client	Buy
otal Futi	ires			1		37	3,700,000			420,875.00	
otal Opt	ons										
otal for <sup>1</sup>	/ R Foreign Exchang	e Future		1		37	3,700,000			420,875.00	
:50:00	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	10,000	10,000,000	15.5095		(155,095,000.00) Member	Sell
:50:00	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	10,000	10,000,000	15.5095		155,095,000.00 Client	Buy
:08:04	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	30	30,000	15.1750		(455,250.00) Member	Sell
:08:04	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	70	70,000	15.1900		(1,063,300.00) Member	Sell
:08:04	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	30	30,000	15.1750		455,250.00 Client	Buy
:08:04	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	70	70,000	15.1900		1,063,300.00 Client	Buy
:09:34	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.2088		76,044.00 Client	Buy
:09:34	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.2088		(76,044.00) Member	Sell
20:05	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.2247		30,449.40 Member	Buy
:20:05	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.2247		(30,449.40) Client	Sell
0:01:09	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.3148		(3,828,700.00) Member	Sell
0:01:09	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.3148		3,828,700.00 Member	Buy
	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.3250		3,831,250.00 Member	Buy
):01:55		Eoroign Exchange Euture	0.00	1	1,000	250	250,000	15.3250		(3,831,250.00) Member	Sell
	€/R 11/12/2015	Foreign Exchange Future	0.00		.,	200	200,000			(0,001,200.00) Member	000.
0:01:55 0:01:55 0:44:22	€ / R 11/12/2015 € / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	3	3,000	15.5587		(46,676.10) Member	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
										.,,,,	
11:02:29	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	40	40,000	15.2366		609,464.00 Member	Buy
11:02:29	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	40	40,000	15.2366		(609,464.00) Client	Sell
11:24:54	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	33	33,000	15.2089		(501,893.70) Member	Sell
11:24:54	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	33	33,000	15.2089		501,893.70 Client	Buy
13:22:49	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	210	210,000	15.2335		3,199,035.00 Member	Buy
3:22:51	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.2303		3,807,575.00 Member	Buy
13:23:06	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.2293		3,807,325.00 Member	Buy
13:23:08	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.2307		3,807,675.00 Member	Buy
13:24:10	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	90	90,000	15.2312		1,370,808.00 Member	Buy
3:24:20	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2310		1,523,100.00 Member	Buy
13:27:04	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	15.2208		(228,312.00) Client	Sell
3:27:04	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	15.2208		228,312.00 Member	Buy
3:27:04	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.2208		380,520.00 Member	Buy
13:27:04	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	44	44,000	15.2208		(669,715.20) Client	Sell
13:27:04	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	66	66,000	15.2208		(1,004,572.80) Client	Sell
3:27:04	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	107	107,000	15.2208		(1,628,625.60) Client	Sell
3:27:04	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	66	66,000	15.2208		1,004,572.80 Member	Buy
3:27:04	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.2208		(380,520.00) Client	Sell
3:27:04	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	44	44,000	15.2208		669,715.20 Member	Buy
3:27:04	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	46	46,000	15.2208		700,156.80 Member	Buy
3:27:04	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	46	46,000	15.2208		(700,156.80) Client	Sell
3:27:04	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	269	269,000	15.2208		4,094,395.20 Member	Buy
3:27:04	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	269	269,000	15.2208		(4,094,395.20) Client	Sell
3:27:04	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	107	107,000	15.2208		1,628,625.60 Member	Buy
3:27:05	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	21	21,000	15.2208		319,636.80 Member	Buy
3:27:05	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	39	39,000	15.2208		(593,611.20) Client	Sell
3:27:05	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	117	117,000	15.2208		(1,780,833.60) Client	Sell
3:27:05	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	117	117,000	15.2208		1,780,833.60 Member	Buy
3:27:05	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	21	21,000	15.2208		(319,636.80) Client	Sell
3:27:05	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	39	39,000	15.2208		593,611.20 Member	Buy
3:27:05	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	401	401,000	15.2208		6,103,540.80 Member	Buy
3:27:05	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	401	401,000	15.2208		(6,103,540.80) Client	Sell
3:27:29	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	33	33,000	15.2311		(502,626.30) Member	Sell
3:27:29	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	33	33,000	15.2311		502,626.30 Client	Buy
3:36:48	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	103	103,000	15.2490		(1,570,647.00) Client	Sell
3:36:48	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	103	103,000	15.2490		1,570,647.00 Member	Buy
3:39:41	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	18	18,000	15.5350		(279,630.00) Member	Sell
3:39:41	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	18	18,000	15.5350		279,630.00 Client	Buy
4:38:14	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	45	45,000	15.5276		(698,742.00) Member	Sell
4:38:14	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	45	45,000	15.5276		698,742.00 Client	Buy
5:32:15	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	240	240,000	15.1820		3,643,680.00 Member	Buy
5:32:15	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	240	240,000	15.1820		(3,643,680.00) Client	Sell
0.02.10	C/ IX II/12/2015	r oreign Excitatige i uture	0.00	I	1,000	240 50	50,000	15.1820			Sell

15:41.38 € / R 14/03/2016 Foreign Exchange Future 0.00 1 1,000 50 50,000 15.5700 778,500.00 Cient   16:16:58 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 184 184,000 15.2788 (2,811,299.20) Memb   16:16:58 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 184 184,000 15.2788 (2,89,345.00) Memb   16:18:08 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 150 150,000 15.2623 (2,289,345.00) Memb   16:18:08 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 150 150,000 15.2623 (2,289,345.00) Memb   16:18:21 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 40 40,000 15.2633 (610,532.00) Memb   16:18:21 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 4 4,000 15.2479 60,991.60 Memb   16:453:5 €	r Buy r Sell r Buy r Sell r Buy r Buy Sell Buy
16:16:58 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 184 184,000 15.2788 2,811,299.20 Memb   16:18:08 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 150 150,000 15.2623 (2,289,345.00) Memb   16:18:08 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 150 150,000 15.2623 2,289,345.00 Memb   16:18:08 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 40 40,000 15.2623 2,289,345.00 Memb   16:18:21 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 40 40,000 15.2633 (610,532.00) Memb   16:45:35 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 4 4,000 15.2479 60,991.60 Memb   16:45:35 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 15.2897 305,794.00 Client   16:45:35 € / R 1	r Buy r Sell r Buy r Sell r Buy r Buy Sell Buy
16:18:08 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 150 150,000 15.2623 (2,289,345.00) Memb   16:18:08 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 150 150,000 15.2623 2,289,345.00 Memb   16:18:08 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 40 40,000 15.2633 (610,532.00) Memb   16:18:21 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 40 40,000 15.2633 (610,532.00) Memb   16:45:35 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 4 4,000 15.2479 60,991.60 Memb   16:45:35 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 4 4,000 15.2479 (60,991.60) Client   16:45:35 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 15.2897 305,794.00 Client   16:59:33 € / R 11/12/2015 Foreign Exchange Future 0.00 1	r Sell r Buy r Sell r Buy r Buy Sell Buy
16:18:08 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 150 150,000 15.2623 2,289,345.00 Membrech   16:18:21 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 40 40,000 15.2633 (610,532.00) Membrech   16:18:21 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 40 40,000 15.2633 (610,532.00) Membrech   16:18:21 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 40 40,000 15.2633 (610,532.00) Membrech   16:45:35 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 4 4,000 15.2479 (60,991.60) Client   16:59:33 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 15.2897 305,794.00 Client   16:59:33 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 15.2897 (305,794.00) Membrech   16:59:33 <td>r Buy r Sell r Buy r Buy Sell Buy</td>	r Buy r Sell r Buy r Buy Sell Buy
16:18:21 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 40 40,000 15.2633 (610,532.00) Memb   16:18:21 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 40 40,000 15.2633 (610,532.00) Memb   16:18:21 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 40 40,000 15.2633 610,532.00 Memb   16:45:35 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 4 4,000 15.2479 60,991.60 Memb   16:45:35 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 4 4,000 15.2479 (60,991.60) Client   16:59:33 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 15.2897 305,794.00 Client   16:59:33 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 15.2897 (305,794.00) Memb   16:59:33 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000	r Sell r Buy r Buy Sell Buy
16:18:21 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 40 40,000 15.2633 610,532.00 Memb   16:45:35 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 4 4,000 15.2479 60,991.60 Memb   16:45:35 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 4 4,000 15.2479 60,991.60 Memb   16:45:35 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 4 4,000 15.2479 (60,991.60) Client   16:59:33 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 15.2897 305,794.00 Client   16:59:33 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 15.2897 (305,794.00) Memb   16:59:33 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 15.2897 (305,794.00) Memb    Gotes Got	r Buy r Buy Sell Buy
16:45:35 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 4 4,000 15.2479 60,991.60 Memb   16:45:35 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 4 4,000 15.2479 (60,991.60) Client   16:45:35 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 4 4,000 15.2479 (60,991.60) Client   16:59:33 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 15.2897 305,794.00 Client   16:59:33 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 15.2897 (305,794.00) Memb   16:59:33 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 15.2897 (305,794.00) Memb   Total Futures 35 13,295 13,295,000 205,351,493.30	r Buy Sell Buy
16:45:35 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 4 4,000 15.2479 (60,991.60) Client   16:59:33 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 15.2897 305,794.00 Client   16:59:33 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 15.2897 (305,794.00) Memb   Total Futures 35 13,295 13,295,000 15.2897 205,351,493.30	Sell Buy
16:59:33 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 15.2897 305,794.00 Client   16:59:33 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 15.2897 305,794.00 Client   16:59:33 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 15.2897 (305,794.00) Memb   Total Futures 35 13,295 13,295,000 205,351,493.30	Buy
16:59:33 € / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 15.2897 (305,794.00) Memb   Total Futures 35 13,295 13,295,000 205,351,493.30	
Total Futures   35   13,295   13,295,000   205,351,493.30	r Sell
Total Options	
Total for € / R Foreign Exchange Future   35   13,295   13,295,000   205,351,493.30	
10:39:45   AU\$ / R 11/12/2015   Foreign Exchange Future   0.00   1   1,000   250   250,000   9.8036   (2,450,900.00) Membra	r Sell
10:39:45   AU\$ / R 11/12/2015   Foreign Exchange Future   0.00   1   1,000   250   250,000   9.8036   2,450,900.00   Membra	r Buy
10:50:26   AU\$ / R 11/12/2015   Foreign Exchange Future   0.00   1   1,000   250   250,000   9.8169   (2,454,225.00) Membra	r Sell
10:50:26   AU\$ / R 11/12/2015   Foreign Exchange Future   0.00   1   1,000   250   250,000   9.8169   2,454,225.00   Membra	r Buy
12:27:30   AU\$ / R 11/12/2015   Foreign Exchange Future   0.00   1   1,000   250   250,000   9.8076   2,451,900.00   Membra	r Buy
12:27:30   AU\$ / R 11/12/2015   Foreign Exchange Future   0.00   1   1,000   250   250,000   9.8076   (2,451,900.00) Membra	r Sell
13:39:41   AU\$ / R 14/03/2016   Foreign Exchange Future   0.00   1   1,000   80   80,000   9.9100   792,800.00   Membra	r Buy
13:39:41   AU\$ / R 14/03/2016   Foreign Exchange Future   0.00   1   1,000   80   80,000   9.9100   (792,800.00) Client	Sell
13:40:57 AU\$ / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 250 250,000 9.8090 2,452,250.00 Memb	r Buy
13:40:57   AU\$ / R 11/12/2015   Foreign Exchange Future   0.00   1   1,000   250   250,000   9.8090   (2,452,250.00) Member	r Sell
Total Futures   5   1,080   1,080,000   10,602,075.00	
Total Options	
Total for AU\$ / R Foreign Exchange Future   5   1,080   1,080,000   10,602,075.00	
11:19:42 CHF / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 5 5,000 13.9672 (69,836.00) Memb	r Sell
11:19:42 CHF / R 11/12/2015 Foreign Exchange Future 0.00 1 1,000 5 5,000 13.9672 69,836.00 Client	Buy
13:39:41   CHF / R 14/03/2016   Foreign Exchange Future   0.00   1   1,000   25   25,000   14.2600   (356,500.00) Client	Sell
13:39:41   CHF / R 14/03/2016   Foreign Exchange Future   0.00   1   1,000   25   25,000   14.2600   356,500.00   Membra	r Buy
Total Futures   2   30   30,000   426,336.00	
Total Options	
Total for CHF / R Foreign Exchange Future 2 30 30,000 426,336.00	
14:59:39 CNH / R 11/12/2015 Foreign Exchange Future 0.00 1 10,000 100 1,000,000 2.0985 2,098,500.00 Memb	r Buy
15:01:37 CNH / R 11/12/2015 Foreign Exchange Future 0.00 1 10,000 58 580,000 2.0990 1,217,420.00 Memb	
15:01:37   CNH / R 11/12/2015   Foreign Exchange Future   0.00   1   10,000   158   1,580,000   2.0986   (3,315,788.00) Client	Sell

Matched Contract Details		Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trad Type	
Total Futures			2		158	1,580,000			3,315,854.00	
Total Options										
Total for CNH / R Foreign Exchang	je Future		2		158	1,580,000			3,315,854.00	
Total Futures			228		53,565	64,193,500			820,036,525.40	
Total Options										
Grand Total for all Instruments		228			53,565	64,193,500	820,036,525.40			